gboogoobz200200000

K02b Joooobbboooobbbooooon
oc00000000000O0MOODOD0OO00OBOO0OD0OO

0O00oOOoO00obO0oO00o0o0obOOo0oO00oDO00bDO00b0 hgpOoODOOODOODODODOODODDOOO
O0b00U0b00U0rsg00000hp =rpxrgUJPLODOOODOOOOO DE4OSODOODOOODOOODOOODO
oo0ooOo0oOo0o0oo0o0obOOoOoDOoO0obDOo0obDOoU0bDO0O0 hpOOODOOODOOODOOOOOODOOOO
0000000000000 000000000000000O0000 DE20000000O0O0OO0OO Standish
1982 A&ADDDOOOOO0O0ODOCOCOO000ODOODOO0O0ODODOODOOOODODODOOOOOODODO
Loobobobobooboo

1 1 Gmgm
L= Zxa X pal, U pa =myq (Va + 2V2) + 53 Z o |:2(2"y + 1>Va - (4’}/ + 3)Vb — nab(vb . nab)
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